# Xéc dinh gia tri bién (+, -, X, +)

Ho va Tén:

Tim gia tri cta x. Cau tra loi
D 47 +-2x =33 2) 83+ -3x=65

1.
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3) 2x+44=56 ) 37-1x=27 4.

5.

6.

7.
3 62+2x=74 6) 3x+95=71

8.

9.

10.
7 20+ 1x=24 8 2x+59=71

11.

12.
9 110-10x=20 10) 3x-7=11
1) 28+ 1x =31 12) 90+ -1x =87
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Xac dinh gia trj bién (+, -, X, +)

Ho va Tén: Loi gifli

Tim gia tri cua x.

Cau tra loi

D 47 +-2x =33 2) 83+-3x=65 -
x="17 X=06 -
2 6
3. 6
3) 2x +44 =56 4) 37-1x=27 4 10
X=06 x=10 6
5
6 8
7 5
3 62+2x=74 6) 3x+95=71
X=6 X =38 8 6
9 9
10. 6
7 20+ 1x=24 8) 2x+59=171 3
x=4 X=6 t
12. 3
9 110-10x=20 10) 3x-7=11
x=9 X=6
1) 28+ 1x=31 12) 90+ -1x =87
x=3 Xx=3
. 1-10 92 [83 [ 75675850 [42[33][25]17]
[ Toan HQC]Vn.CommonCOreSheets.com 3 11-121 8 1 0




# Xéc dinh gia tri bién (+, -, X, +) Ho va Tén:

Tim gia tri cta x. Cau tra loi
10 6 6 4 6
6 9 8 7 6 1.
D) 47 +-2x=33 2) 83 +-3x =065 5
3.
4.
5.
3) 2x+44=56 4 37-1x=27
6.
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8.
9.
S) 62+2x=74 6) 3x+95=71
10.
D 20+ 1x=24 8) 2x+59="71
9 110-10x=20 10) 3x-7=11
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